2014

PHILOSOPHY
Major
Paper:5.3

Full Marks : 80 Time : 3 hours

The figures in the margin indicate full marks for the questions.

1. Answer the following as directed :

1x7=7

| (a) The emphasis of analytic philosophy is on conceptual

(b)

(©)

(d)

®

analysis/ linguistic analysis/ critical analysis.
(Strike off the incorrect alternative)

Molecular facts are constituted by {acts.

(Fill in the gap)

Moore’s paper Refutation of Idealism’ mainly targeted
the philosophy of

() Barkeley
(i) Hume
(iii) Hegel
(iv) Kant

(Choosc the correct alternative) -

Name of the book of Wittgenstein in which the presented
the picture theory.

What is the concept by which Wittgenstein rejected the
view that language has one essence?

Who used the expression

‘the d :
machine™? ogma of the ghost in the

0.1

Scanned with CamScanner




e

| (8) Who is the author of The Concept of Mind?

| 2. Answer briefly the following :

| 2x4=8

f (@) Define logical atomism.

(b) Whatis the distinction between consciousness and the
object of consciousness?

(c) Whatis family resemblance?

(d) Inwhatsense language is a picture of reality?

3. Answer any three of the following questions :
' 5x3=15

(@) What are the various kinds of logical atoms recognized
by Russel?

(b) “Allphilosophy is critique of language.” Discuss.

(c) Whatare the various example employed by Ryle to reject |

' Cartesianism?

j' (d) In what sense Russel’s logical atomism is a form of

pluralism? Discuss.

i ' (e) State briefly Ryle’s concept of the ‘Cartesian Myth.;

| 4.  Answer any three of the following questions :

, 10x3=30
(a) Discuss the picture theory of meaning of Wittgenstein.
(b) Howdid Ryle attempt to refure Cartesianism? |
(c) Discuss Moore’s refutation of idealism.
(d) Explain Wittgenstein’s concept of language games.

(¢) What are the basic features of analytic philosophy?
Discuss.

() How did Wittgenstein in his concept of language games
demonstrate the link between meaning and use? '
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PHILOSOPHY
Major
Paper:5.3

Full Marks : 80 - Time : 3 hours

The ﬁgurés in the margin indicate full marks for the questions.

1. Answer the following as directed : 1X7=7

(a)

(b)
(c)

(d)
(e)

()

(g)

| According to Ryle, Descartes’ mind-body dualism suffers

from
(i) Contradiction
(i) Ambiguity
(iii) Pictorial thinking
(iv) Category mistake
(Choose the correct alternative)

Name the philosopher who introduced the concept of
propositional function.

What is the main function of philosophy, according to
Wittgenstein?

Who were the authors of Principia Mathematical?

Name one of the founders of the analytic movement of
philosophy?

Name the book of Wittgenstein presenting his early
philosophy.

In his “Refulation of Idealism”, the main focus of Moore
was the rejection of the idealism of

(i) Kant
(i) DBradley

0.3
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(iif) Barkeley
(iv) Hegel
(Choose the correct alternative)

2. Answer briefly the following :
(a) What is a negative fact, according to Russell?
(b) What is ‘picture theory of meaning’?
(c) What is a fact, according to Wittgenstein?
(d) What is the ‘official doctrine’ criticized by Ryle?
3. Answer any three of the following questions :5x3=15
(a) What are the kinds of fact recognized by Russell? Discuss
briefly.
(b) State certain examples of language games given by
Wittgenstein. In what sense do language games remain .

‘open to view’?
" (c) Explain briefly the basic points of Moore against the
statement ‘esse est percipi’.
(d) Explain the concept of category mistake after Ryle.
(e) Explain briefly the conéept of family resemblance.

4.  Answer any three of the following questions : 10x3=30 |
(a) Write a critical account of Russel’s logical atomism. |
(b) Give a general account of analytic philosophy.

(c) Examine Ryle’s criticism of Cartesian dualism.

(d) Examine Wittgenstein’s picture theory of meaning.

(¢) WasMoore successful in his refutation of idealism? Give a
critical answer.

(f) In what sense does Wittgenstein regard language as a tool?
How can one play games with language? Explain.

2x4=8
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PHILOSOPHY
Major

Paper:5.3
Full Marks : 80 Time : 3 hours

The figures in the margin indicate full marks for the questions.

Answer either in English or in Assamese

1. Answer the following as directed : 1X7=7

T SR e RIS T ferts
(a) The ‘official doctrine’ is the theory that

e og’th ¥ A IF 0F T
(i) Mind and body are the same thing

(2 S T 0L
(i) Mind and body are the separate entities

M2 I 3 @1 7|4 el
(iii) Other mind doesn't exist

Wi e SR IR

(Choose the correct alternative)

(w7 Reao! A Cfered)
(b) Analytic philosophy is also called linguistic philosophy.
(Write True or False)

Reselige wiae ©iffe i el (@ial =
(51 1 oy o)
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(¢) The simple facts are called by Russell..................
(Fill in the blank)

(d) What is a proposition, according to Russell?
TR WS 5 I T (PRI ?
(€) ‘Language pictures reality.’ Who said this?

ORI el SRS I FART @I (e

() Name the book of Wittgenstein.

CEHAIZNBIZNT 24 = 7t |

(9) According to Moore, the existence of the objects in
the external world.

T 0O A Tries I Sy
(i) Depends upon human perception
AT @9 S T
(if) Does not depend upon human perception
A @5 IS T
(iii) Is known through perception
Ao RISI Tl Y

(iv) Is an inference

< Al

(Choose the correct alternative)

(W= [RFHCOT 1> Sferean)
Answer briefly the following : | 2x4=8
©eT0 firl erprR b3 e fora ¢ | .
(a) Write the name of three important philosophers

responsible for the development of analytic movement
in Western philosophy.
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oAbre) Mo R eafoe S giie (@il
ot wamgaf wifire w1 forat |

(b) Which basic statement of idealism was rejected by
Moore.

SRR CPIRTH! ) T+ A A BRI ?
(c) What is a ‘state of affair’, according to Wittgenstein?
T 0o(2RIZA WO WOl AT M 2

(d) What does Ryle mean by ‘the dogma of ghost in a
machine?

N TS T oo vo’ M &2

Answer any three of the following questions :  5x3=15

©eTS Tl epTres Ricpical fofib Sy foris

(a) Discuss briefly the kinds of proposition recognized
by Russell in his atomism.

RS YIS P aFENE F &, 59
GRS .

(b) Give two examples put forward by Ryle to explain the
concept of ‘category mistake’'.

‘(NS (IS A T O St v

(c) Discuss briefly about Wittgenstein’s V|ew on forms of
life.

ICEWQETEAPTE| WW"W@? @9{3‘5‘{‘@5
oA 41 |

(d) Is Moore consistent in refuting idealism? Give your
comment.

Scanned with CamScanner




¢

(e) Explain briefly the concept of ‘family resemblance’ of
Wittgenstein.
BHBoiRBINT ARl AP QIR 82O B IR
= |
Answer any three of the following questions :
wete Tl epyea Rl oo Ted ferd:
(a) Discuss logical atomism of Russell. Why is it called
logical atomism? Explain.
JFTE ORI SRR Go<S T ST |
42 OGBS 7 ORI HAIGIM o1 (PN 7?2 I
Sl ‘
b). Explain and examine the language game theory of
Wittgenstein.

D5 0513313 ©II-(4sT T I SN o< 1 |
(c) Discuss how Moore refutes idealism.
& &P ORAM DG FIRCR, SN F |

(d) Give an account of the analytic movement in the
contemporary Western philosophy.

TPIART #APbre) wiag Reseies sfoqms 9
o 7ife & |

(e) Explain and examine Ryle’s refutation of Cartesian
dualism.

12671 FIOOLI (@O AL N FF A 554 |

(f) Explain and examine Wittgenstein's picture theory.

BRG0sI3B 1% SRR OG sl It oI A <5 |

10x3=30
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PHILOSOPHY
Major
Paper: 5.3

Full Marks : 80 Time : 3 hours

The figures in the margin indicate full marks for the questions.

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

R weTe e v i
(a) Which of the following pairs is not perfectly matched?
weTe Al RIS fooe (D! (I Ffowrei st (4
22
(i) Ghost in machine-Gilbert Ryle
T3 fooqe go— it 9iee
(i) Verification principle—
Logical positivism
TPl 7 fo— O 3 SrOpTFW
(iif) Philosophic‘al investigations—Moore
Philosophical investigations—3g
(iv) Objectiveidealism— Hegel
TR IR — (RO
(b) ‘L.angu.age: has many fuctions’. The philosopher associated
with this view is

Z‘@gﬁ%ﬂmwrtﬂaﬂma%m ﬁ
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(@ Russell
ezt
(i) Moore
aﬁ ‘
(i) early Wittgenstein
(iv) later Wittgenstein
(Choose the correct alternative)
(w= Reweot 3> Sferea)
(¢) Canafact be either true or false according to Russell?
JCET TS (A ©= 79 | ST T A ?

(d) Accordine to Russell, a proposition is a/an

SITRETS TS (I I (207 9T
(i) simple symbol
A oS Ip
(i) Complex symbol
Gfoe erSics
(iti) incomplete symbol _
SRTo)ef eRSe
(Choose the correct alternative)
(% fIrret 1fS Sfenean)
(e) Which one of the following is true?
O (PINCG! &% 2
(i) Moore is an idealist.
[ (R ORIFT ST |
(i) Moore is a common sense philosophei.
X (R I 41741 31 1y e e |

(i) Moore refutes philosophy of sense data.

g@mw@m%@mmmwmz
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(f) Language, Truth and Logic in the chief work of
2
Language, Truth and Logic NTNI& (@ 51qIB| i o1
() Russell
T
(i) G. E.Moore
&2
(i) Husserl
=)
(iv) Ayer
IR

(Choose the correct alternative)

(o Rwch! aifo Sfrean)
(g) The 'official doctrine' is the theory that
P OB A G (T TG TS
() mind and body are the same thing
(TR I T 0%
(i) mind and body are the separate entities

(72 1% S 51 5J2 7@l

(ii)) other mind doesn't exist
RICREE AT B

(Choose the correct alternative)
(wm [Reeo! i Tfenaar)

2. Answer briefly the following question as directed ;

ot oot i emicares S fora s -

(a) Match the following four pairs correctly :

©eTS il I BIRG! Wt ficeira 2

() Vienna Circle-Picture Theory
fowrtt b —awret g a1 eifo R

0.11
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(i) Wittgenstein-Schlick
SRR —

(iif) Esse est percipi-Russell
Ao B R —IT

(iv) The problems of philosophy-Berkeley
e AR — e

(b) What is subjective idealism? 2
WYY ©fam T 52

(¢) What is family resemblance? 2
sifRifae Ay e

(d) What is a fact, according to Russell? 2
e N 0 5 2

Answer any three of the following questions : 5x3=15

weT fiR e Rt fofioe Tea fovdl s

(a) In what sense philosophy is said to be a therapeutic
enterprise? Make a critical note in brief.

s w1 i < FRRITETeTs 1 fobeatt o 1 I 3t S
e I = | 530 @i AT (BIpl o<t |

(b) Write a short note on Vienna Circle.

ot v R «fb 53 (Orel ol |
(c) What is linguistic philosophy?

oifies i 3fere fe gramai 2w 2

(d) Bring out Wittgenstein's account on 'Language and Reality'..

BIG(AABIZAT I NI G RO SIS I=CHH |
(¢c) How did Moore distinguish between 'blue' and 'the
consciousness of blue'?

e @ DT ET NS @ (@FEWME 21 [oR
Plafeet ? :
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(f) Briefly discuss Ryle's 'category mistake' with the help of
suitable example.

TS Trizeid e 1% ‘Mt R ar cirer’s R

O3 TG Sisi<eera |
4. Answer any three of the following questions : 10x3=30
TS firl e R (oot FofBre e forait 3
(a) Bring out any five characteristics of Analytic philosophy.
| 2x5=10
et et Reeient 1551 eaiey wistaepat|

(b) Explain and examine Russell's philosophy of logical atomism.

10
MEH ST PN T REaETe T etaee T |

(c) How did Moore refute Berkeley's dictum 'Esse est percipi'?
Discuss. |

TR ‘eorsere 3 Rt SRecs! (AT A TR ?
SIS 511 | |

(d) Why does Wittgenstein cgmpare words with tools? What

are the various functions that we perform with language?
Explain after Wittgenstein.

IR

(e) Give a critical account of
dualism.

10
wmmw@wﬁwmmﬁmwmm
RO | 4

() Givean account of Wittgenstein's notion of language game. |

10

Ryle's refutation of Cartesian

TR TRABIZ B! (4 e ol Bl

Scanned with CamScanner




